Grade 7 Volume Exercise A                         Name: 
(Rectangular prisms, Cubes, and Cylinders)
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For each problem, use this picture & given information to answer the following FOUR questions.


# and staple scratch work to this page.


What is the SHAPE of the BASE of the prism?





What is the AREA of the BASE of the prism?





What is the HEIGHT of the prism?





What is the VOLUME of the prism?











V = Bh


(B = area of base)


(h = height of prism)





A (rectangle) = LW


A (square) = s2


A (circle) = πr2











Problem #1:  Given L = 3ft, 


     w = 2 ft, and h = 4 ft 


1.


2.





3.


4.








Problem #2: 


 


1.


2.





3.


4.








Problem #3:  Given dimensions of floor are 15 ft by 12 ft and H = 9 ft 





1.


2.





3.


4.








Problem #4:  Given L = 5 ft, w = 7 ft, and h = 3 ft 





1.


2.





3.


4.





Problem #5:  A side of this CUBE is 2 centimeters, 





1.


2.





3.


4.








Problem #6:  Measure the L & W of this candy bar to the nearest whole centimeter.  The height is ½ cm (use 0.5).  Answer 1-4. 





1.


2.





3.


4.








2 cm





Problem #7:  Given the data in the picture, answer 1-4.


Use 3 for � EMBED Equation.3  ���.





1.





2.








3.





4.











“scratch work”





Problem #8:  Given the data in the picture, answer 1-4.


Use 3 for � EMBED Equation.3  ���.





1.





2.








3.





4.











“scratch work”





20 cm





30 cm





20 cm





8 cm





Problem #10:  Given the data in the picture, answer 1-4 for this can.  


Use 3 for � EMBED Equation.3  ���.





1.





2.








3.





4.











“scratch work”





18 in.





14 in.





Problem #9:  Given the data in the picture, answer 1-4 based only on the cake itself.  


Use 3 for � EMBED Equation.3  ���.





1.





2.








3.





4.











“scratch work”





6 in.





10 in.
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